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1. Listen and fill in the missing numbers.

The United Kingdom is England, Wales, Scotland and Northern Ireland. Each of these countries has
smaller regions called counties. Northern Ireland has __ counties, Wales has ____ counties,

Scotland has ___ counties, England has ___ counties, and Yorkshire is one of them.

2. Fill in York, Thirsk or Whitby.

is especially interesting for Harry Potter fans.
is especially interesting for Vampire fans.

is especially interesting for James Herriot fans.

3. Match the towns to their sights.
York the Shambles

the James Herriot Museum

Whitby the abbey on the hill
the cemetery on the hill
Thirsk the sea

houses over 700 years old

4.e correct word.

a. England is a part of the USA / the UK.

b. York, Thirsk and Whitby are in the county/ country of Yorkshire.
c. Yorkshire is in the north of England/ the south of Scotland.

d. There is a street called Diagon Alley / the Shambles in York.

e. Whitby is a seaside / see side town.

f. James Herriot was a famous vet / wet.

5. Fill in the prepositions: by, of, on, above, with.

a. Whitby is a seaside town Whitby Abbey a hill the town.
b. York is the county town Yorkshire.

c. The books are James Herriot, a famous veterinarian.
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SOLUTIONS

1. Listen and fill in the missing numbers.

The United Kingdom is England, Wales, Scotland and Northern Ireland. Each of these countries has
smaller regions called counties. Northern Ireland has 6 counties, Wales has 13 counties, Scotland
has 33 counties, England has 48 counties, and Yorkshire is one of them.

2. Fill in York, Thirsk or Whitby.

York is especially interesting for Harry Potter fans.
Whitby is especially interesting for Vampire fans.

Thirsk is especially interesting for James Herriot fans.

3. Match the towns to their sights.

York, the Shambles

the James Herriot Museum
Whitby /:the abbey on the hill

the cemetery on the hill
Thirsk he sea

houses over 700 years old

4.he correct word.
d is a part of the USA / the UK.

b. York, Thirsk and Whitby are in thecountry of Yorkshire.

c. Yorkshire is in thetorth of EnglandAthe south of Scotland.
d. There is a street called Diagon Alley kthe Shambles’in York.

e. Whitby is see side town.

f. James Herriot was a famou/ wet.

5. Fillin the prepositions: by, of, on, above, with.

a. Whitby is a seaside town with Whitby Abbey on a hill above the town.
b. York is the county town of Yorkshire.

c. The books are by James Herriot, a famous veterinarian.



